Corso matematica Data:

b

Wa La proprieta distributiva 2: esercizi

a? +h? =c?

a) (p+t)-(m+n)=
b) (p-t)-(-m+n)=

0 (2b+c)-(a+2b)=
d) (3x+2y)(2x-3y)=
e) (-6p-3y)(-2y-3p)=
N (v2-3)(v2+1)=

g9) (5a-6b)-(-7c+2a’)=
h) (Lrﬁj(g_ﬂ):
3 2)\5 3
i) (1a+b2j(3a+gbj:
3 5

. 1 2
_]) (Ea—gbj'(a-i'?)b):

k) (3a+5)-(5a%+4)=



) @+b)-(@a+b)=
m) (a - b)? =

n) @+b)@-b)=

0) (\/5—72')(71'—{-\/5):

p) (Vx-2yy)(Vy +2Vx)=

o)) (2\/6+\/E)(5\/§—2\/§) _

N 12-GBa+4)(-a+5)=

s) (a+b)(a+b)—(a+b)(a=h)=

) (a®-4a+3) (4ab+3)=

u) (a+1)-(a-2)-(2a-3)=



